
MacDraw 1.9.5 and LaserWriter 5.2 Conflict

This article last reviewed: 28 April 1989

This problem is caused by the combination of MacDraw 1.9.5 (or 1.9.6 from
CLARIS) and the LaserWriter 5.2 print drivers.  When you rotate a block of
text and print to the LaserWriter, you get an ID=2 system error.

This happens with the Macintosh SE, Macintosh Plus, or Macintosh 512Ke,
when using the LaserWriter 5.2 drivers.  The workaround is to use an older
version of the LaserWriter drivers.  For the Macintosh 512Ke, this means the
LaserWriter 4.0 drivers (versions between 4.0 and 5.2 do not work on a
Macintosh 512Ke). For the other machines, choose one of the previous 5.0
levels of the LaserWriter drivers.
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